. HMEHE : BNKEEATZZHEXILMENS (FA])
2. £9 HAAY : HEY WF

Class C-w 7+UXtZ F71, HI|FE{0LX = Class C-H1 ~ C-H5 A
AZIX=AHZl Class C-P 8! E|XIHZ Class C-P2 {IA
3. HZAAMY : 2016. 12. 29 (2)

(SRR
T8 wy o Hg 3
HED BNKZEARTS SRS (F4) BNKE £ 32|05 3 S RHIEHS(F4)

H3Z(HEE |@0 MEEA7|Fo| YHL "BNKEEAR |\ ©0| MYEX7|To HAS "BNKEEZ:
A21Tel SR sz USRMENS(FA) 2 St OFE HEXFAENS (FA) 2t it
* 888 o e @ (FHuI 23)
@0 EAHMEe FRY YBEXI|TZ|Q0 EXES FIRY TYEAI|TR
ZRE o2 Lot 2o TRE O st 2ot
~4. (M2 1~4. (A% 28)
|

(¢}

4
Class C-w ==z 3 : 2&d Wrap ME |5. Class C-w

BN
d

< O
[jnd}
rg
=2
Liels
>
1o
ne
0o
0ot

SRt E|(Wrap) AIZHE 2Rt At Es
Bl 1|82FJ1I7%§01| olot LIEFAXL
6. Class C-H1 | : ZM S Aot | <4 &>
H87TE 2 SHAM HBLE, ASMY L
ASMEAIBO| Mote H7|FHUORIKS
e
153 : Class|6. Class C2 =2ZH lass C1 =AZH=Z

7. Class C2 [Class C-H2] ==
Cl[Class C-H1] =5 HE 1L
2ozt

M o
(@]

o)
4 Q3|14 o4 R 9%t

=

8. Class C3 [Class C-H3] #=2Z3& : Class|7. Class C3 =2Z 3 : Class C2 +=AZHZ

C2[Class C-H2] £=ol=AE 14 Oo|AF HQ5H 1 O|AF HEesh 4=0lX}

2ozt

9. Class C4 [Class C-H4] #=2Z @& : Class|8. Class C4 =2Z 3 : Class C3 =T HZ

C3[Class C-H3] +2ZHS 11 O|A EL3H 1H 0|4 HQE 0Kt

S0yt

10. Class C5 [Class C-H5] =2&# : Class|9. Class C5 =2Z 3 : Class C4 +=AZHZ

C4[Class C-H4] =2=3HES 14 0|4 EQ3H 1 O|AF HL T 4=QlX}

2ozt

11~13. (A2 10~12. (At Z3)

<Al M 13. Class C-P Q=3 : AENY H 20 =
O[3 X ASMEAIMH X 40 2|20
2 AISNZAZE S0l s +
Ao, fojsE7t YHEX Y=
+ol53

<Al M 14. Class C-P2 =2=3& : Z22ZX}EXZ0E

o
YSE oot EIMASHLE ZHAXL E[




SEETTPIEE
S0 Hgh

~ (420 ~ B AR H X2 0 YSt=

@

Z=0ol=M2 (Class Cl[Class
=18

1.

O] 14 o|&ol A= Class
o=zyoz Mg}

2. Class C2[Class C-H2]

O] 1 O]yl &< Class
ol=Hoz M3zt

3. Class C3[Class C-H3]

O] 1 o[yl &% Class
o=goz Xy

4. Class C4[Class C-H4]

C-H1] 2=2=2of

SHe| HER7(zt
C2[Class C-H2] %

o5 QI
C3[Class C-H3] ==

o5 He BRI
C4[Class C-H4] ==

950 BRI

2. Class C2 ==
ol AL Class

3. Class C3 ==
ol AL Class

4. Class C4 =<

7:
TAZTHO|
o]

(3 495Hoz

w0z

C4 sozHUoR My

o
C +o5HezE o

0] 1 O|&Ql AL Class C5[Class C-H5] #=| 2l AL Class A =)
osdHez et
HL0E(FAUS | @ ~ (HEh) ~ @© ~ (dat Z3) ~
Mol wry A [1~5. () 1~5. (S8 28)
O ) 6. Class C-H1 =ol=H AF R[>
7. Class C2 =95 # §. Class C2 £=9/=H
8. Class C3 =95 ¢ 7. Class C3 9= 3
9. Class C4 =3 # 8. Class C4 29z
10. Class C5 =95 # 9. Class C5 49z H
11. Class C-H2 =2=3# <A H|>
12. Class C-H3 =& & <A H|>
13. Class C-H4 =2=3# <Ab H|>
14. Class C-H5 ==& <A H|>
15. Class C-f =9|5H 10. Class C-f == H
16. Class A-e =3 H 11. Class A-e £=2=3H
17.Class S +=<|5¢H 12. Class S =3
<l 2> 13. Class C-P =21= 3
<A H> 14. Class C-P2 =953
MBE@U7L @ +4ZHL Cfg 2B0IM ot bl |@ +ASHS CH2 ZZoN Hots bo
4) 2t ZZHE THOjSICH 2 =2z mofsict.
1~4. (42D 1~4. (B3t Z2+2)
5. Class C-w #2453 : LAY Wrap & |5. Class C-w $=ASH : THOfS|ALO] A
S te|(Wrap) AZE ER0F At Es
BMBZA 720 oot MEIRHK}
6. Class C-H1 =2Z 3 @ ZMEHXNSE X | <A H>
87z A SHAIAH H8LZE, A:HIE e
SHEAHHO| Fot= H7|FEOIEN= It
24 CH-&F At
7. Class C2 [Class C-H2] #=2&Z3& : Class|6. Class C2 == '%-’r‘._i Class C1 =25 #Z
Cl[Class C-H1] =ZHS 1 o|& ER%H 1H 0|4 Egst =X}
2ozt
8. Class C3 [Class C-H3] #=2&Z & : Class|7. Class C3 = Z 3 : Class C2 AT HS




C2[Class C-H2] =2ZHEZ 14 0|4 2/t
=Xt

9. Class C4 [Class C-H4] =9
C3[Class C-H3] $2=MHE 14 O|A HL3}
=Xt

10. Class C5 [Class C-H5] =</&# : Class

14 oy 2ot

—

oixt

8. Class C4 =25 # : Class C3 =AFTHS
113 o[4F Q3 0%}
9. Class C5 =2 Z# : Class C4 AT HS

C4[Class C-H4] =25#HZ 13 O|4 ERoH|1d Ol EHFot =Xt
=X}
11~13. (‘4= 10~12. (it Z3)
<Al M> 13. Class C-P £=21=3 : AEMY H 20 =
O[3 3 ASMBAIMH X 40 £2| 20
2 HINFAZIE S0 7t =
Ao, Hojsr52F ALEX| Q=
ToASH
<Al > 14. Class C-P2 =9=3 . 22X}E|ZZ0E
20 oot E|IXAFME THAXE, E|[F
ASFA AR = JHOINE| R AFAZE
745t Xt
H39xE(E=) |@H1Zel 8o 2ot FEAIEES=|0F1gel HE 2ot FXAEEHSE
gsf FTF FASHEER CO2 429|Fd TR FAUSHEER OF 4=9|
Heg0 s ZF 94T It | Ex20 Yo FF =LYSHO diYsSt=
EXRHIER Ao HERIFAO Lo FRHEN EXAEI A HE ALK (O LS| FXAIE!
=AHEEA S A7 F=ESI0 ot FUS | E=AMMBAZS A7 FHSo gt FUS
A7t L2 LhE U0 EFAL7|ZHel | A7 Y2 g )0 EA 7|2
d+E S0 W= it dr+E 52 W2 =E it
1~5. (‘42 1~5. (A 23)
6. Class C-H1 £=2=3# <A >
7.Class C2 =S H : (4=h) 6. Class C2 =9Z & : (¥t Z3)
8. Class C3 = ZH : (42 7.Class C3 £=ZH : (dd Z£3)
9.Class C4 =S H : (4=h 8. Class C4 =T # : (ddt Z3)
10. Class C5 =Z 3 : (|42 9. Class C5 =ZH : (Hd Z£3)
11. Class C-H2 £=9=H <A H|>
12. Class C-H3 =2=H <A >
13. Class C-H4 £=9l=H <A A >
14. Class C-H5 £=2=4# <A >
15. Class C-f =9/ S & : (%42 10. Class C-f =S & : (AL} Z3)
16. Class A-e =2 Z# : (4= 11. Class A-e =95 : (1t Z3)
17.Class S =S 3 : (M=) 12.Class S =S H : (&t Z3)
<A M 13. Class C-P =21=#
7l HetEXAAIELE 0 A 1,00089| 7.0
Lt. O AESE& @ o 100029 7.5
C}. AMEFAXIEZSE 9 1000£2°] 0.3
2f. LUALREE|2|ALE=E ¢ & 100022
0.2
<Al M 14. Class C-P2 ==&

7t TSHEXIQIAIESAE - o 1,00029| 7.0




Ol_ —r
H_I O_|7O_._._._o —
o n D ,A_|o|_L| oft
d e h ru N
© o S5 - | 2 N
I Jod =
of of — oo KO — |om
u_._u_n_m.LOﬂoﬂm ~
= < —
mm LIATum_u._ |
SS9 Fala o
Ul = —
sEy |8 5L
P K o© | =
o o o ET,@MOM%
LT | W E g S
H M & _.__”_.__.n_x_._|._.L|
A _._._uoﬂl*A_I._oE_ALL
< K OF L oo U o
rorion ol [ o |
= a3 Byl © =
S 11 %o = —
=7 <1 ol < o J|Jf 7F| ol <
EPLAL of ™ & X |©¥ o
- Hm R Ko oH o] X Tk
or
<F o
o
ol —
go M
T
Y
._O._Ir
B
I_._AI_L
u- =
oo =
o &
o
o
I &0
L_AIE_om_L.A
or ml ©°
<k Ko <k _
Klo %
or KO A
g tlo =
Ki Rr
LRI
R ™ AT v




